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READ THE ENTIRE EXAMINATION BEFORE YOU START SO THAT YOU DISTRIBUTE YOUR TIME
APPROPRIATELY. PLEASE WRITE ALL YOUR ANSWERS ON THE ANSWER SHEET.

PART I. True-False Questions. Two points for each correct answer for a total of 10 points.
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1. Research questions must be testable.

2. Research methodology helps the researcher minimize subjective bias and
maximize objectivity.

3. We usually tell people that they do not need to conduct a needs
assessment before they develop an intervention program.

4. Dr. Sheng-Mou Hou is the director of Health Promotion, Department of
Health.

5. A social group would be the target of an intervention program in
community health services.
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PART II. Multiple-Choice Questions. Select the best answer. Fwo points for each correct
answer for a total of 30 points.
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PART III. Short Essay. A total of 60 points.

1. 47# ADL #t IADL ? (10%)

2. WA £ Ak 7 (10%)

3. Consider chronic illness of the elderly who are assumed to begin with in the state “healthy.”

The process of interest is transitions among chronically ill status. The transitions and states
can be diagrammed as follows:
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(20%)

a. If the elderly are 75 and older, which transition rate would you expect to be higher, and
why:

M Healthy— Chronically ill

A2 Chronically ill ———» Healthy

b, Would you expect that transition rate from “chronically ill” status to “dead” status to be
higher for the older people born in 1930s, or the people born in 1950s? Explain your answer.

4. The Health Department reports a significant and troubling increase in mental health problems
among older adults aged 65 and above. What are the determinants of this trend? What
interventions at a program or policy level would you recommend to reverse this trend? (20%)




